Client: Believe in Scotland

Agency: Panelbase

Universe: Adults resident in Scotland
Methodology: Online omnibus

Sample size: 1002

Fieldwork dates: 09 April - 12 April 2021

Weighting: All the results were weighted by age, sex, 2019 Westminster election, 2014 independence referendum and
country of birth.

Further enquiries: ivor.knox@panelbase.com



12/04/2021

Base: 1,002 Total GenderxAge SEG 2019 Westminster 2014 Independence 2016 Holyrood Constituency 2016 EU Referendum Country of Birth
Referendum
Male x Male x Male x :Female x: Female x i Female x| ABC1 C2DE CON LAB Lib Dem SNP I voted I voted : I did not CON LAB Lib Dem SNP Remain Leave Did not | Scotland ;| England All
16-34 35-54 55+ 16-34 35-54 55 Yes No vote vote others
Total 1002 147, 154 181,  1a5, 162, 209] 579  423| 216, 160 82, 387| 387 479  136| 189 177 561 361 568 305,  129| 832 90 0|
(1002) (140) (155) (186) (142) (156) (219) (580) (422) (237) (139) (72) (393) (382) (484) (136) (203) (164) (53) (361) (565) (314) (123) (789) (140) (73)
Q5. If another Scoftish Base: All respondents 1002 147 154 181, 145, 162 209| 579,  423| 216, 160 82, 387| 387 479,  136| 189 177 56, 361 568 305  129| 832 %0 0|
independence referendum was held (1002)| (140) (155) (186), (142) (156) (219)| (580): (422)| (237) (139)  (72) (393)| (382) (484) (136)| (203). (164)  (53) (361)| (565). (314) (123)| (789) (140)  (73)
tomorrow: how likely would you be 15" Earain To Vote 783 161 138 160 88 137 176 76 318 181 117 69 345 333 402 68 72 135 47 337 450 343 60 670 77 P
! 79%| 69%  83%  89%  68%  78%  B84%| 82%  75%| 88%  73%  84%  89%| 84%  84%  50%| 91%  71%  84%  90%| 86%  80%  47%| 80%  86%  57%
9 62 10 11 12 7 5 16 30 32! 14 17 4 15/ 18 31 14 8 22 1 12 20 30 12 51 4 7
6% 7% 7% 7% 5% 3% 8% 5% 7% 6% 11% 4% 4% 5% 6% 10% 4% 12% 1% 3% 4% 10% 9% 6% 5% 8%
8 53 15 s 1 s 16 8 38 34 3 10 5 i1 30 16 17 i i3 5 i1 %6 i1 16 33 3 13
5%|  10% 6%  <1% 7% 6% 4% 5% 6%| <1% 6% 6% 3%| 5% 3% 120%| 2% 7%  10%  3%| 5% 3%  13%| 5% 3%  15%
7 26 11 2 0 8 4 1 15 11 2 10 0 4 7 10 9 2 11 1 2 13 4 9 20 2 4
3% 7% 1% o 6% 3% <1% 3% 3%|  <1% 6% o <1% 2% 2% 7% 1% 6% 2% <1% 2% 1% 7%| 2% 2% 6%
6 17 P [) 3 5 3 3 8 s [} 1 i 4 8 3 7 [ 3 1 [ 3 3 ) 13 i 3
2%| 3% o 2% 4% 2% <1% 1% 2% 0 <1% 2% <1%| 2%  <1% 5% o 2% 2% ) 1%  <1% 7% 2% 1% 4%
5 21 3 3 0 6 7 2 8 13 1 2 1 5 5 7 8 0 1 0 4 7 3 10 15 1 4
2% 2% 2% [ 4% 4% <1% 1% 3% <1% 1% 2% 1% 1% 2% 6% 0 <1% 0 1% 1% 1% 8% 2% 2% 5%
4 5 1 [) [} 1 i 3 3 3 3 ) i [} 1 i 3 1 [ [} [ 3 i 3 i i [
<1%|  <1% 0 0 <1%  <1% 1%  <1%  <1%| <1% o 2% o <1% <1 2%m| <1% ) ) o <1% <1% 20| <1% <1% o
3 4 ) [ [ 2 1 1 2 2 1 [ [ 1 1 1 2 ) [ [ 2 1 2 1 3 o 1
<1% o [ o 1% <1% <1% <1% <1% <1% ] o <1% <1% <1% 2% 0 0 0 <1% <1% <1% <1% <1% 0 1%
3 i 1 [) 1 1 [} 1 1 3 1 1 [} 1 1 3 [} 1 i [} 1 3 3 [ i [ [
<1%|  <1% 0 <1%  <1% 0 <1%| <1%  <1%| <1%  <1% 0 <1%| <1%  <1% o| <i1% <1% 0 <1%| <1% <1% o <1% ) o
1 - Certain Not To Vote 16 1 2 3 7 3 0 7 9 3 1 0 1 3 5 9 2 1 1 2 0 7 9 14 1 2|
2% <1% 1% 2% 5% 2% 0 1% 2% 1% <1% L <1% <1% <1% 6% 1% <1% 2% <1% o 2% 7% 2% <1% 3%
Mean score 9.3 9.1 9.6 9.7 8.7 9.2 9.6 9.5 9.2 9.6 9.4 9.6 9.7 9.5 9.5 8.1 9.7 9.3 9.5 9.7 9.6 9.4 8.0 9.4 9.6 8.7
Q6. How would you vote in Base: Selected 8 to 10 at Q5 908 125 147 174 115 142 201 535 374 207 145 78 372 361 449 98 183 160 53 350 537 283 88 759 84 65
response to the question: Should (911)| (120)) (148)! (179): (113) (137); (210)| (538) (373)| (227) (126) (69): (377)| (358) (455) 98)| (197) (149) (50) (350)| (535) (292) (84)| (721) (131) (59)
fgﬁf“fr:‘j bean Yes 436 8 75 62 81 60 73 352 184 8 g 5 336 3is 65 53 6 48 10 303 3i4 77 s 375 37 34
! a8%| 66%  51%  36%  71%  42%  36%| 47%  49%| 4%  33% 7%  88%| 88%  14%  55%| 3%  30%  18%  87%| 59%  27%  51%|  49%  33%  53%
No 418 39 66 104 24 71 115 258 160 194 84 67 32 32 356 30 172 97 39 35 193 193 32 341 53 25
46% 31% 45% 60% 21% 50% 57% 48% 43% 94% 58% 86% 9% 9% 79% 31% 94% 61% 73% 10% 36% 68% 37% 45% 63% 38%
Don't know 54 4 6 8 9 11 13 24 29! 4 14 6 13 11 28 14 4 15 4 12 29 14 11 44 4 5]
6%| 3% 4% 4% 8% 8% 6% 5% 8% 2%, 9% 8%  4%| 3% 6%  14%| 2% 9% 8% _ 3%| 5% 5%  12%| 6% 5% 8%
Q6. How would you vote in Base: Selected 8 to 10 at Q5 854 121 141 166 105 131 188 510 344 203 131 72 358 350 421 84 179 145 49 338 507 270 77 715 80 59
response to the question: Should [and 'Yes' or 'No' at Q6 (859)| (116)! (142) (172)i (104): (126): (197)| (514); (345)| (223); (114) (64); (363)| (347) (428) (84)| (193); (135) (46); (338)| (506): (279) (74)| (680): (125) (54)
fgﬁf“fr:‘j bean Yes 436 8 75 62 81 60 73 352 184 8 g 5 336 3is 65 53 6 48 10 303 3i4 77 s 375 37 34
! 51%| 68%  53%  37%  77%  46%  39%| 49%  54%| 4%  36% 7%  91%| 91%  15%  64%| 3%  33%  20%  90%| 62%  28%  58%| 52%  34%  58%
No 418 39 66 104 24 71 115 258 160 194 84 67 32 32 356 30 172 97 39 35 193 193 32 341 53 25
49% 32% 47% 63% 23% 54% 61% 51% 46% 96% 64% 93% 9% 9% 85% 36% 97% 67% 80% 10% 38% 72% 42% 48% 66% 42%




12/04/2021

Base: 1,002 Total GenderxAge SEG 2019 Westminster 2014 Independence 2016 Holyrood Constituency 2016 EU Referendum Country of Birth
Referendum
Male x | Malex | Male x {Female x Female x| Female x| ABCL | C2DE | CON | LAB | LibDem SNP | Ivoted | Ivoted (1didnot| CON | LAB | LibDem| SNP | Remain | Leave | Did not |Scotland ] England | Al
16-34 | 35-54 | 55+ | 16-34 = 35-54 | 55 Yes No vote vote others
Total 1002 147, 154 181 145 162, 209] 579 423| 216, 160 82, 387| 387 479  136| 189 177 561 361 568 305,  129| 832 90 0|
(1002)| (140); (155)] (186); (142) (156) (219)| (580) (422)| (237). (139). (72). (393)| (382); (484) (136)| (203) (164) _ (53) (361)| (565). (314) (123)| (789) (140) (73
Q7a. If another Scottish Base: All respondents 1002 147 154 181 145 162, 209] 579 423| 216, 160 82, 387| 387 479,  136| 189 177 56, 361 568 305  129| 832 %0 80|
Parliamentary Election was held (1002)| (140) (155) (186), (142) (156) (219)| (580): (422)| (237) (139)  (72) (393)| (382) (484) (136)| (203). (164)  (53) (361)| (565). (314) (123)| (789) (140)  (73)
tomorrow: how likely would you be 15" Earain To Vote 774 161 134 157 51 130 177 59 315 184 1is 64 338 319 350 66 173 128 47 330 470 350 54 651 76 47
! 77%|  69%  81%  87%  63%  74%  85%| 79%  74%| 90%  74%:  78%  87%| 82%  81%  48%| 92%  73%  85%  89%| 83%  82%  42%| 78%  84%  59%
s 61 6 11 13 11 10 8 36 25 13 10 7 15 15 31 15 s 17 4 15 31 15 15 51 3 7
6% a% 7% 7% 7% 6% 4% 6% 6% 6% 7% 9% 5% 4% 7% 1% 5% 10% 6% 4% 5% 5% 11% 6% 3% 8%
8 54 15 P 3 1z 8 i1 31 33 1 16 7 i1 13 35 16 5 14 3 10 37 14 13 43 5 [
5%|  10% 3% 2% 8% 5% 5% 5% 5%|  <1%:  10% 8% 3% 3% 5%  12% 2% 8% 4% 3% 5% 5%  10% 5% 6% 8%
7 39 13 6 1 13 3 2 27 12 2 8 3 8 16 10 13 ) s 2 7 18 8 13 30 2 8
4% 9% 4% <1% 9% 2% 1% 5% 3%|  <1% 5% 3% 2% 4% 2% 10% o 5% 4% 2% 3% 3% 10%| 4% 2% °%
6 16 6 3 1 3 i 3 6 10 1 5 [} 3 3 7 3 [ i 1 1 3 3 [3 i1 3 3
2% 4% 2% <1% 2% <1%  <1% 1% 2%|  <1% 3% 0 <1% 1% 1% 3% ) 2% 2% <1% 1% 1% 5% 1% 3% 3%
5 27 2 2 1 4 12 5 4 23 1 1 [ [ s s 8 1 2 [} 3 7 8 12 21 1 4
3% 1% 1% <1% 3% 7% 2% <1% 5%|  <1%  <1% 0 2% 2% 2% 6%| <1% 1% o <1% 1% 3% °% 3% 2% 5%
4 8 1 1 [} 3 i 3 5 3 1 1 i 1 3 i 3 [ i [} [ i [ i 3 [ 1
<1%|  <1%  <1% 0 2% <1% 1%  <1%  <1%| <1%  <1% 2% <1%| <1%  <1% 2% 0 <1% ) o| <1% ) 3%|  <1% ) 2%
3 3 ) [ [ 1 2 [ 3 [ 1 [ [ [} 2 1 [ ) 1 [ 1 2 1 [} 3 o [}
<1% 0 0 0 <1% 1% o] <1% o| <1% 0 0 o <1% <1% o 0 <1% 0 <1%| <1%  <1% o <1% [ o
3 8 1 [) 4 3 i ) 3 3 3 ) [} 1 3 i 3 3 [ [} 1 i i 3 7 [ 1
<1%|  <1% 0 2% 1% <1% o| <1% 1%|  <1% 0 0 <1%| <1%  <1% 2% 1% ) 0 <1%| <1% <1% 2%|  <1% ) 1%
1~ Certain Not To Vote 13 2 1 1 5 3 1 6 7 1 [ [ 1 3 2 s [} 1 [ 2 [} 4 s s 1 3
1% 1% <1%  <1% 3% 2% <1% 1% 2%|  <1% 0 0 <1%| <1%  <1% 6% 0 <1% o <1% ) 1% 7% 1% <1% 4%
Mean score 53] 50 55 56 87 50 56 54 51 57 54 56 57 54 55 8.1 58 53 57 57 55 54 77 33 55 85|
Q7b. Who would you vote for with | Base: Selected 8 to 10 at sss| 121, 140, 173 114 139 197| 526 362| 208, 145 78 368| 346, 446 o7 186 159 53, 345| 528 279 82| 745 84 60|
your constituency vote if a Scottish (Q7a (892)| (117); (141); (178); (112)i (133); (207)| (530): (362)| (228) (126) (69); (374)| (343); (451) (98)| (200); (148) (50); (346)| (526): (288) (78)| (707); (130) (55)
t":r:':r’r":v:‘fary Election took place  [& e National party 374 57 63 57 71 55 69 353 152! 3 35 5 319 265 70 38 5 39 7 289 383 60 33 333 56 56
42%|  47%  45%  33%  63%  40%  35%| 42%  42% 1% 17% 7% 87%| 77%  16%  40% 3%  18%  13%  84%| 53%  21%  39%| 43%  32%  43%
Scottish Conservative & 182, 21 29 53 s 21 49 115 67 150 6 14 3 13 160 s 133 17 s 6 58 120 5 151 21 11
Unionist Party 21%|  17%  21%  31% 7%  15%  25%| 22%  18%|  72% 4% 17%  <1% 4% 36% o%|  72%  11%  17% 2%  11%  43% 6%| 20%  25%  18%
Scottish Labour Party 163 33 35 38 14 38 33 73 ) 33 57 10 14 35 131 16 37 56 3 15 53 55 14 141 13 7
18%| 19%  18%  22%  13%  20%  17%| 18%  19%| 15%  67%  13% 4% 7% 27%  16%| 15%  60% 7%  4%|  18%  20%  17%| 19%  16%  12%
Scottish Liberal Democrat a8 1 10 12 5 10 11 33 15 7 [ 34 4 8 37 3 10 1 27 3 28 16 4 35 [ 4
Party 5%|  <1% 7% 7% 4% 7% 5% 6% 4% 3% o aa% 1% 2% 8% 3% 5%  <1%  52%  <1% 5% 6% 5% 5% 10% 7%
Scottish Green Party 30 s 3 3 i 6 7 17 i3 3 7 3 ) i3 10 7 3 3 [ i3 33 3 5 34 3 3
3% 7% 2% 1% 3% 4% 3% 3% 4%l  <1% 5% 4% 3%|  a% 2% 7% 1% 2% 0 a%| 4% <1% 7% 3% 5% 4%
Other s 1 1 3 1 [ 3 5 4 1 1 [ 4 3 3 2 [} 2 [ [ 3 4 2 7 1 1
<1%|  <1%  <1% 2% <1% 0 1%|  <1% 1%|  <1%  <1% 0 1%|  <1%  <1% 2% 0 1% ) 1%|  <1% 1% 2%  <1%  <1% 2%
Wouid ot vote 1 [) [) [} [) [) [) [) i [} [) [) 1 1 [} [ [) [} [) 1 i [ [ i [ ]
<1% 0 0 0 0 ) 0 o <1% 0 ) 0 <1%| <1% ) 0 ) ) 0 <1%| <1% ) o <1% ) o
Don't Know/ Not sure 79) 7 s 7 s 15 26 38 40 14 8 11 14 18 43 18 s 11 [ 14 42 2 16 61 10 8
9% 6% 6% 4% 8%  14%  13% 7% 11% 7% 6%  15% 4% 5%  10%  19% 5% 7% 12% 4% 8% 8%  19% 8%  12%  13%
Prefer not to say i 3 [} i 1 [} [} 3 i [} 1 [} [ [} i 3 [} [} [ 1 [ i 3 3 [ 1
<1% 2% o <1% 1% 0 o <1%  <1% o <1% 0 0 0 <1% 4% 0 0 o <1% 0 <1%  4%| <1% o 2%
Q7b. Who would you vote for with | Base: Selected 8 to 10 at 80a| 112, 131 165 104 120 171] 485, 320 194 135 67, 353| 327 402 75| 177, 148 a7. 330|485 256 62| 679 72 52
your constituency vote if a Scottish [Q7a and any party at Q7b (807)| (108); (132)i (169); (102)i (115); (180)| (487): (320)| (213) (117) (59); (358)| (324); (407) (76)| (191); (138) (44); (329)| (482): (266) (59)| (645); (115) (47)
f:;":rzev;‘:a” Election took place  [&otici Nitional party 374 57 63 57 71 55 69 353 152 3 35 5 319 265 70 38 5 39 7 289 383 60 33 355 56 76
47%| 51%  48% 3%  69%  46%  40%|  46%  48% 1% 18% 8%  90%| 81%  18%  51% 3%  20%  14%  88%| 58%  23%  51%| 47%  36%  50%
Scottish Conservative & 182, 21 25 53 s 21 a5 115 67 150 [ 14 3 13 160 s 133 17 s [ 58 120 5 151 21 11
Unionist Party 23%|  19%:  22%  32% 8% 8% 9% 4% 1% 7% 4% 0% <1% 4%  40%  12%|  75%  12%  20% 2%|  12%  47% 8%|  22%  28%  20%
Scottish Labour Party 162 33 35 38 14 28 33 73 65 33 57 10 14 35 131 16 37 56 4 15 53 55 14 141 13 7
20%| 21%  19%  23%  14%  23%  19%| 19%  22%| 17%  72%  16% a%| 8%  30%  21%| 15%  65% 8%  4%| 19%  22%  22%| 21%  18%  15%|
Scottish Liberal Democrat a8 1 10 12 5 10 11 33 15 7 [) 34 4 8 37 3 10 1 27 3 28 16 [ 35 8 3
Party 6%| <1% 8% 7% 5% 8% 6% 7% 5% 4% o s1% 1% 2% 9% 4% 6%  <1%  59% 1% 6% 6% 7% 5% 11% 5%
Scottish Green Party 30 s 3 3 i 6 7 17 i3 3 7 3 s i3 10 7 3 3 [ i3 23 3 5 24 3 3
4% 8% 2% 1% 4% 5% 4% 3% a%w|  <1% 5% 5% 3%| 4% 2% 10% 1% 2% o 4% 5%  <1% 9% 3% 5% 4%
Other s 1 1 3 1 [) 3 5 4 1 1 [) 4 3 3 2 [ 2 [) [ 3 [ 2 7 1 1
1% <1wl  <1% 2% <1% 0 1%]  <1% 1%|  <1%  <1% 0 1%|  <1%  <1% 3% o 1% o 1%|  <1% 1% 3% 1% <1% 2%




12/04/2021

Base: 1,002 Total GenderxAge SEG 2019 Westminster 2014 Independence 2016 Holyrood Constituency 2016 EU Referendum Country of Birth
Referendum
Male x | Malex | Male x |Female x| Female x| Female x| ABC1 | C2DE | CON LAB iLibDem; SNP | Ivoted | Ivoted (Ididnot| CON LAB iLibDem{ SNP | Remain | Leave } Did not |Scotland} England | Al
16-34 | 35-54 | 55+ 16-34 | 35-54 55 Yes No vote vote others
Total 1002 147 154 181 145 162 209 579 423 216 160 82 387 387 479 136 189 177 56 361 568 305 129 832 90 80|
(1002)| (140); (155); (186); (142); (156); (219)| (580); (422)| (237); (139) (72). (393)| (382) (484) (136)| (203) (164) (53) (361)| (565). (314) (123)| (789). (140) (73)
Q7c. And who would you vote for | Base: Selected 8 to 10 at 888 121 140 173 114 139 197 526 362 208 145 78 368 346 446 97, 186 159 53 345 528 279 82 745 84 60|
with your regional vote? Q7a (892)| (117) (141); (178); (112); (133). (207)| (530): (362)| (228): (126) (69): (374)| (343)  (451) (98)| (200): (148) (50). (346)| (526) (288) (78)| (707): (130) (55)
Scottish National Party 295 37 42 a5 64 46 59 162 133/ 3 26 3 246 207 58 29 a 25 6 227 217 53 25 253 2 20
33%| 31%  30% 26% 56%  33%  30%| 31%  37% 1% 18% 4%  67%| 60%  13%  30% 2%  16%: 12%:  66%| 41%.  19%.  30%| 34%  26%  33%
Scottish Conservative & 181 20 29 a7 9 25 51 113 67 139 14 16 2 9 162 10 130 21 10 4 55 115 11 145 23 13
Unionist Party 20%|  16%  21%  27% 8%  18%  26%| 22%  19%| 67%  10%  20%  <1% 3%  36% 10%| 70%:  13%  19% 1%|  10%:  41%:  13% 0% 27%  21%)
Scottish Labour Party 138] 18 19 33 16 23 29 80 58 25 84 8 14 2 98 14 17 85 3 13 85 46 7 122 10 6
16%| 15%  14%  19%: 14% 16%: 15%| 15%  16%| 12%  58%  10% 4% 8%  22%  15% 9%  53% 6% 4%|  16%  17% 9%| 16%  12%  10%)
Scottish Green Party 73 27 15 5 9 11 7 55 18 2 7 8 a1 34 25 14 4 10 2 36 57 2 15 57 9 8
8%| 22%  11% 3% 8% 8% 3%|  11% 5% 1% 5%  10%:  11%|  10% 6%  15% 2% 6% 4%  10%| 11%  <1%  18% 8%  11%  13%|
Alba Party 51 3 14 11 3 3 13 33 18 1 2 [} 45 45 3 1 1 3 0 46 40 11 0 a8 2 1
6% 2% 10% 6% 3% 5% 7% 6% 5%| <1% 2% 0 12%| 13% 1%  <1%| <1% 2% 0 13% 8% 4% [ 6% 2% 29%|
Scottish Liberal Democrat 46, 4 8 11 3 9 10 29 17 8 [} 29 5 8 35 3 10 3 22 5 27 14 4 38 7 1
party 5% 3% 6% 7% 2% 7% 5% 5% 5% 4% 0 37% 1% 2% 8% 3% 5% 2%  41% 2% 5% 5% 5% 5% 8% 2%
Al for Unity 20 3 4 9 1 1 2 13 7 15 1 1 2 3 16 1 10 3 1 1 9 11 0 18 1 1
2% 3% 3% 5%  <1%: <1%. <1% 2% 2% 7% <1% 2% <1%| <1% 4% 1% 6% 2% 2% <1% 2% 4% [ 2% <1% 29%|
Other 6 1 1 2 1 1 0 4 2 1 1 [} 1 2 2 2 1 [} [} 3 1 3 2 6 0 0
<1%|  <1%  <1% 1% <1%  <1% 0 <1% <1%| <1% <1% 0 <1%| <1% <1% 2%|  <1% [ 0 <1%| <1% 1% 2%|  <1% 0 0
Wouid not vote 0 0 3 [ [ [} 0 [ [ [ [ [} 0 0 0 0 0 [} 0 0 0 0 0 0 0 0
[ [} [ [} [} [} [) [} [) [} [} [} [} [} [} [} [} [} [} [} o o [ o o [
Don't Know/ Not sure 74, 7 8 9 6 16 25 34 40 14 7 13 12 12 42 19 10 9 8 9 36 23 15 54 11 9
8% 6% 6% 5% 5%  12%  13% 6%  11% 7% 5%  17% 3% 3% 10%  20% 5% 6%  16% 3% 7% 8%  18% 7%  13%  16%|
Prefer not to say 5 1 [ 1 1 1 1 3 2 [ 2 [ 0 0 2 3 0 0 0 1 1 1 3 3 1 1
<1%|  <1% 0 <1% 1% <1%  <1%| <1%  <1% [} 1% [} [} 0 <1% 4% [} [} 0 <1%| <1% <1% %[ <1%  <1% 29%|
Q7c. And who would you vote for | Base: Selected 8 to 10 at 810 113 132 163 106 122 171 490 320 194 136 65 356 334 a01 74 177 150 as 335 492 255 64 688 72 50
with your regional vote? Q7a and any party at Q7c (812)| (108); (133); (167); (105)i (117); (180)| (493): (319)| (213); (118) (57);] (360)| (331); (407) (74)| (190): (140) (42); (335)| (488): (264) (60)| (654): (113) (45)
Scottish National Party 295 37 a2 a5 64 a6 59 162 133! 3 26 3 246 207 58 29 4 25 6 227 217 53 25 253 22 20
36%| 33% 32% 28%  60%  38%  35%| 33%  42% 1% 19% 5% 69%| 62%  15%  40% 2%  16%:  14%.  68%| 44%  21%  39%| 37%  30%  40%
Scottish Conservative & 181 20 29 a7 9 25 51 113 67 139 14 16 2 9 162 10 130 21 10 4 55 115 11 145 23 13
Unionist Party 22%| 18%  22%  29% 9% 0% 0% 3% 1% 2% 10%  25%  <1% 3% 40% 3% 4% 4% 3% 1% 1%  45%:  17%| 21%  32%  25%
Scottish Labour Party 138] 18 19 33 16 23 29 80 58 25 84 8 14 26 98 14 17 85 3 13 85 46 7 122 10 6
17%| 16%  15%  20%: 15%. 19%  17%| 16%  18%| 13%  62%  12% 4% 8%  24%  19%| 10%  57% 7% 4%| 17%  18%  11%| 18%  14% 120
Scottish Green Party 73 27 15 5 9 11 7 55 18 2 7 8 a1 34 25 14 4 10 2 36 57 2 15 57 9 8
9%|  24%  12% 3% 9% 9% 4%|  11% 6% 1% 5%  12%  11%|  10% 6%  19% 2% 7% 5%  11%| 12%  <1%  24% 8%  12%  16%|
Alba Party 51 3 14 11 3 3 13 33 18 1 2 [ 45 45 3 1 1 3 0 46 40 11 0 a8 2 1
6% 3%  10% 7% 3% 5% 8% 7% 6%| <1% 2% 0 13%| 13% 1%  <1%| <1% 2% 0 14% 8% 4% [ 7% 3% 29%|
Scottish Liberal Democrat 46, 4 8 11 3 9 10 29 17 8 [} 29 s 8 35 3 10 3 22 s 27 14 4 38 7 1
party 6% 4% 6% 7% 2% 8% 6% 6% 5% 4% 0 44% 1% 2% 9% 4% 6% 2%  49% 2% 6% 6% 7% 5% 9% 3%)
Al for Unity 20 3 4 9 1 1 2 13 7 15 1 1 2 3 16 1 10 3 1 1 9 11 0 18 1 1
2% 3% 3% 5%  <1% <1% 1% 3% 2% 8%  <1% 2% <1%| <1% % 1% 6% 2% 3% <1% 2% % [ 3%  <1% 29%|
Other 6 1 1 2 1 1 [ 4 2 1 1 [} 1 2 2 2 1 [} 0 3 1 3 2 6 0 0
<1%|  <1%  <1% 1% <1%  <1% 0 <1%  <1%| <1%  <1% 0 <1%| <1%  <1% 3%|  <1% [ 0 <1%| <1% 1% 3%|  <1% [ [




